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2 iR 10.88ha
3 /INMETNE 1.0ha
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5 —YRAERE 0.23ha
6 BHIELE 0.16ha
7 K nE 0.35ha
8 AR 0.31ha
9 HEFERAE 0.09ha
10 AIJIAE 0.66ha
11 [EISNE 0.71ha
12 IERANE 0.13ha
13 dbO2E 0.25ha
14 HESANE 0.16ha
15 EEAAE 0.12ha
16 FJIIAE 0.21ha
17 XFLE 0.63ha
18 KRR 0.2ha
19 HEFRmAERE 0.2ha
20 HEINE 0.28ha
21 EIRE 0.29ha
22 EE 0.3ha
23 E /N E 0.27ha
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25 EFEHFRT A E 0.14ha
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HWELE  26.3ha
EBEAE  3.0ha
EBEAE  1.5ha
EBEAE 2.2ha
SEBEAE 2.1ha
#HXAE  0.28ha
HEAE 0.17ha
#HXAE  0.7ha
#HXAE  03ha
#X2E  0.31ha
#HIX2E  0.24ha
#HIX2E  0.29ha
#HIX2E  0.34ha
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#HX2E  0.26ha
#HX2E  0.19ha
#IX2E  0.28ha
#HIX2E | 0.62ha
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